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1. Solve for x.  
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2. Solve the differential equation: [ ] 0)sin( )cos( =++ dyxdxxyx   (10 ϩ) 

3. Find the value of the integral dtett t32
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4. Evaluate the value of the integral ∫ − +
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5.  Let ( )1,2,11 =υ , ( )0,9,22 =υ , and ( )4,3,33 =υ . Show that the set  

( )321 ,, υυυ=S is a basis for R3 .  (10 ϩ) 

6. Find the inverse Laplace transform of 
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7. Let 
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, find the eigenvalues and eigenvectors.   (10 ϩ) 

8. Solve ( , )u x t of following partial differential equation  (20 ϩ) 
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9. Find the general solution of the ordinary differential equation  (10 ϩ) 
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